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NEET MACRO TEST 5 (19.12.2024)

20x4=80 MARKS

Botany: Respiration in Plants, Plant Growth & Development

Zoology: Neural control & coordination, Chemical coordination & integration
Chemistry: Solutions, Electrochemistry
Physics: Oscillation, Waves

01.

02.

03.

04.

05.

Which of the following serves as a common
oxidative pathway for carbohydrates, fats and
proteins?

1) TCA cycle

2) Glycolysis

3) Calvin cycle

4) Alcoholic fermentation

Decarboxylation takes place in which of the
following conversion steps in Krebs cycle?

a) PGA — Acetaldehyde

b) Pyruvic acid — Acetyl CoA

c¢) Oxalosuccinic acid — a-Ketoglutaric acid

d) a-Ketoglutaric acid — Succinyl CoA

1) b, cand d only

2) b and c only

3) cand d only

4)a,b,candd

In link reaction of respiration, a 3C molecule
(pyruvic acid) is converted into a

1) 5C compound

2) 2C compound

3) 4C compound

4) 6C compound

Which of the following is not formed during
TCA cycle?

1) NADH>

2) CO2

3) Succinyl CoA

4) Pyruvate

Complex which transfers electrons of FADH> in
ETSis

1) Complex |

2) Complex 11

3) Complex 11l

4) Complex IV
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sTFCuTenaBL Gy B&He6lT, OC&TIYlILesT LBHID
LT SHMhIBEThHBT  Gurgieumer i dendenCenmms
UTenGHUITSH LT6d162 (H6) GOTRBASI6D 615l
CFweOLIGABSHI?
1) TCA spmd
2) BenenBammensvdlerd
3) srevaien ailpmd]

4) 160HamTe0 GBI HH60

&HOrled  spBFUled Ll  61hdH  LOTBMBL
LI9&6Me 19&TTLITGHF Ge0a960 HenL GILIBISIBEI?
a) PGA — oiflLmedigsnam(®p
b) emLimailé Sileoid — SiFensd COA
C) ol HenCeungsdlafd Sileo — o-
S1I_BLT@& 6L Lfld Didevid

d) a-8 BTG e L fld idlevd — &ddlenensv
CoA

1) b, cand d only

2) band c only

3) cand d only

4)a,b,candd

GOUTFHHe  Rememili]  elewenruisd, @m 3C
Weudbdmp  (wUmald — Sflevd)  EReIUTBIS
LOTBBUIUGS MBS
1) 5C compound
2) 2C compound
3) 4C compound
4) 6C compound

Lesteumeusioumnsley e1g TCA apmdluilenr Gumg
®_(HoUTH6s06m60?

1) NADH:

2) CO,

3) gahdenensv COA

4) emuiHBeul_

ETS ®6v FADH2 @6bt 616061 JTeiicsensl OTHBHILD
Fal L 6DLDLIL]

1) Complex |

2) Complex 11

3) Complex Il

4) Complex IV
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06. How many molecules of CO> are produced in
Krebs cycle from 1 molecule of acetyl CoA?
n1
2)2
3)3
4) 4

07. Which of the following is common metabolite

formed after respiratory breakdown of fats,

proteins and carbohydrates?

1) Glucose 6-phosphate

2) Pyruvic acid

3) DHAP

4) Fructose-1,6-bisphosphate

08. How many of the given substrate(s) readily enter

the glycolysis step?

a. Fat b. Fructose

1)3

2)1

3)4

4) 2

c. Protein d. Glucose

09. All cells of a plant are descendants of the
1) Zygote

2) Apical meristem

3) Lateral meristem

4) Intercalary meristem

10. Ecological heterophylly is seen in
1) Cotton

2) Coriander

3) Delphinium

4) Ranunculus

11. Match the following
A) Foolish seedling disease(l) Cousins
of rice
B) Crystallised the kinetin [Il) F.W. Went
C) Releases of ethylene gas |ll1) Skoog and
Miller
D) Bioassay of auxin IV) E. Kurosawa

1) A-111, B-1V, C-1, D-1l
2) A-1V, B-IlI, C-1I, D-I
3) A-1V, B-llI, C-1, D-lI
4) A-1V, B-1, C-11I, D-II
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06. 1 oflemed COA cpsvdbammiledmbdl HOTLIe
apmFulev erdHemen CO2 (LpevdbdnBIH6T 2 BLISS)
Cauiwu®Galeiment?

D1
2) 2
3)3
4) 4

07. Q& TpLIL a6, L|T SBIB6IT LOBBILD

sTFCUTemamL Byl (baeflen deura (ppleys@ll LIBE,

®_(HUTGLID QUITHIeITT alemTdlend CUTHEIT 61517

1) & 6mBamerd-6-LmeroGLIL

2) emLmedld  Siflsvld

3) DHAP

4) Ly BLmerv-1,6-1NeroumeroGui

08. OQa&sr@Bdsii L

&HemenBsmensudlerd

BIeMLE| G160 ?

a. Q@srapliyy

b. Ny&GLmerd

C. Yrsib

d. ®endE8smerd

1)3

2)1

3)4

4) 2

SRUATNGRIERIRY
LI & @ 6T

615 6060
2 _LauguiTs

09. @ HTUTSHHET DMaTHH CF60BEHID B 60
L0 HBCHTETBEVH6IT

1) smpenL

2) pil ou5E&HH 6

3) UGB (B DLHGHHDH 5

4) QoL usGSHE

10. &,10601ULI60

STe ILBGHBSH
1) upsd

2) Q&1 SHH06060
3) GLevLNesfuiid
4) grein@ 60610

CamL" 19GymL 6060 8 gl60

11. Yeireu(meueareuBenmLl QUIT(HSHHRILD

A) Gbsveled Gamiomerll Grmull 1) Gaendlaerd

B) evaGemgenent 1) F.W. Qe
LIQSHLOTEH S UIG)

C) 15865681 aumuiaiest 1) erdgnd 1OBBID
QeuafuiBaser LOl6LGLIT

D) suddler o _ulfluied yuie)
1) A-1l1, B-IV, C-1, D-1l
2) A-1V, B-IlI, C-II, D-1
3) A-1V, B-III, C-I, D-II
4) A-1V, B-1, C-lII, D-1I

IV) E. &mGameur
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Which of the following PGR is widely used to
kill dicotyledonous weeds?

1) IAA

2) IBA

3)2,4-D

4) ABA

Removal of apical bud in tea plantation and in

hedge making is of great significance as it

1) Promotes the formation of more seeds

2) Promotes growth of lateral bud

3) Helps in development of more tannins in tea
leaf

4) Promotes the formation of better leaves

Which of the following delays senescence and is
called anti-aging hormone(s)?

1) Cytokinin

2) Ethylene

3) ABA

4) All of these

Rise in rate of respiration at the time of fruit
ripening is called

1) Respiratory climax

2) Bolting

3) Respiratory climactic

4) None of these

The given diagram shows axon terminal and
synapse. Here A, B, C, D and E respectively
represent.

i
{2
%

1) Axon terminal, synaptic cleft, synaptic
vesicles, neurotransmitters and receptors

2) Axon terminal, Synaptic vesicles, Synaptic
cleft, Receptors and Neurotransmitters

3) Synaptic cleft, Synaptic vesicles, Axon
terminal, Neurotransmitters and receptors

4) Synaptic cleft, Axon terminal, Synaptic

vesicles, Neurotransmitters and receptors
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Hereumeuemeumpiiev b PGR (Hmeuy  euenitad
PWEGLBHS) BmalbHme  HMm6THM6Id:
@&meveL LTeUeOTHLI LWTUGSSLILBGHBSH?

1) IAA

2) IBA

3)2,4-D

4) ABA

Bz Cxulenev CamlL1b oBmid Geuell swImFlriieo
® sifenn HIed GLOTL BHemen SiBBEBIISH  LOSA|LD

(PSHHWSHSBIOID UTUIHSHS).

1) 9185 alensE6i 2_(HhauTealend 26mbEalbH B

2) LsbseUTL B Qo B aueNi&FeleniL
o s Gl HHMS

3) Gauimev @emeouled SHB  LTesileiimenen
® _(HoUTHD 2 FHa|FH B
4) FBhs BM6VB6T 2_(HaTeUMSD 261d@Hal HHBE]

Ledteu(mHeueateunsle0 QEs| (LPSHIENLDED U
SMOSULGSHSISBSI  1OBBID  UUISTET  6TSBITLIL]
ATy GLOT6T(H61T) 61631l SIMIDSHHILGSBSI?

1) ena BLrensefleit
2) 61536568

3) ABA

4) Bmel IMRIHSILD

LD L& emeudb@ld Crrshaled gieuns alldlsib
SIHSFULG DelauTBl HINDSSLILBGS B

1) geurg o_FgBlenev

2) Gumevigm

3) FouTgF HTeVHeN6V

4) Benal 61D B606m6V

CaThHeHSULL L aUenIUL LD HLHFT6T (Len6T LOBMHILD
Fhdlemus s GEBa. @mBs A, B, C, D ojpid
E aydlwemen penpBL @plsaliLBalsise.

= n\Y/

1) osbgmear  (wwyauGs, Hemigs e,
Flemigd HIHTENLISEN, BILDLIGWITEY HL 5 H6N
LOBBID JMBLIB6I

2) SLHFTAT (PGS, Fiigd [HIGHTLIGENT,

Feomiigd LNene)], gMBLIS6T LOBBILD [HFLDL|6wITE]

BL_SHSHH6N

Feaommligd  eney, FeImligdh HICTOTENLISGET,

SBFGT (PYOYLIGH, BILOLIEWITEY  SL SISl

LOBBID gBLIS6IT

4) fermiigs 1616, DLBF6T (LPIRA|LIGS, FTTlIgs
BIRTIEHLIGHET, [BIOLE0ITE]| &L SHHH6T oB®ID
gIMLIs6I

3)
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Myelin sheath is formed by
1) Ranvier cells

2) Muscle cells

3) Schwann cells

4) Axon

Which of the following statements are correct
regarding Na* - K* pump?

i) Needs energy (ATP) to work

ii) Expels 3 Na* for every 2K" ions imported

iii) Works against a concentration gradient

iv) Maintains resting potential

1)iandiv

2) ii and iii

3) i and iii

4) all of these

Statement-1: Multipolar neurons have two or

more axons and one dendrite.

Statement-1l:  Multipolar neurons are found

usually in the embryonic stage

1) Both statements | and Il are correct

2) Statement | is correct and statement Il is
incorrect

3) Statement | is incorrect and statement Il is
correct

4) Both statements | and 1l are incorrect

The gaps between the two adjacent myelin
sheaths are called

1) Nodes or Ranvier

2) Schwann cells

3) Cell bodies

4) Synaptic knob

During resting stale, the outer surface of axonal
membrane possesses ___ charge.

1) +ve

2) —ve

3) +ve and —ve

4) no charge

Neurotransmitter substance is present in
1) Nucleus

2) Synaptic vesicles

3) Schwann cells

4) Axon

Cretinism, mental retardation, low intelligence
quotient, abnormal skin, deaf - mutism, etc., are
the results of

1) hyperthyroidism

2) goitre

3) hypothyroidism

4) hyperglycemia
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MWV 2_6mB  BHIT60 2 (HeUTHBS)
1) yeraluwiy QFeos6lt

2) g OF60H61T

3) eroeumest QFe0H6IT

4) o1baFTe0

Na" - K'2_phaib Oamjurns Leiaumi dainiaere

o1l Fflwimestgsl?

1) Gouewev GFUILI SYBBed (ATP) Cxpene

i) eam@mey Gouwniu@Ghn  gaieurm 2K'
SalseEps@b 3 Na* i GauelCuBnidng

i) QFnfey FTUIesE a1dITe OFweOLGH MBS

IV) @uiaBlenev 6TeN(1pSHHHMBLI LTTIDFfGBSBE]

1)iandiv

2) ii and iii

3) i and iii

4) all of these

GBoI-l: ueowener HuyITeiEeT SFeNiG D606V
SIHBG OCuoBUlL  HLEHFTEIH6T BB  @h
QCLer_emyL_enL_d CTeus(HeiTemen.

gpmi-11: Leopener  MHuyrTeTE6T QUITSHIUTS &H(H
Blemeouled smemriLIBLD

1) 1 opud | @yewi( gnBmickenid Ffluimerene

2) gamiml | gflwimeng) wmmib gpm | seuprengs)
3) gl | eupreng wBBID aBu | Fflwrerg
4) | wpmid 11 Byewi® amBuIsEHD SHeupBTeaiene

BTewi(H DI(HEIEL 266N eLOWIEIIET 2 MNBHEHDHE
BB o _eTem  BenLGleuelmai [GRILYis]
SImLPSHSBLILI(H S 63601

1) (pemenes6iT £160608! TaiTallLIT

2) eroaume QF60a6IT

3) QF6d 2_L coaal

4) Seiigd GO

golaler gule) Hlemeouled LEHFTeT Feilalen

Geueftiyp  Guopuriiy Tl L SHendHd
OmemIBHeiTeNngl.

1) +ve

2) —ve

3) +ve and —ve
4) no charge

BILDLI0TTeY SHL G OLMHeT @DFHed 2 _6lTeng
1) e Lam

2) FTLIgE [BHICHTENLIHE

3) erbeumest QFe0m6IT

4) oubaFTen
SOl Igefgd, B  GHMBUTH, GMBHS
UsbHFTelldHHend, iFmeHTgent  GCHmed, ST

Gapenm@aiy - 2ated GUITETBENE.
1) ewamiiuy enGITuigFd

2) STUIC LT

3) e»amlIGUIT e HITUIYFID

4) ewamiiuf Severdibuim
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Identify the incorrect statement.

1) In males FSH regulate spermatogenesis

2) Thyroid gland produces Tz and thyroxine (Ta)
hormones

3) ACTH stimulates the synthesis and secretion
of protein hormones called glucocorticoids
from adrenal cortex

4) In females, LH induces ovulation of fully
mature follicles and maintains the corpus
luteum

Statement-I: Oxytocin acts on the smooth
muscles of our body and stimulates their
contraction.

Statement-I1: In females, it stimulates a vigorous
contraction of uterus at the time of child birth.
1) Both statements I and Il are incorrect

2) Both Statements | and |1 are correct

3) Statement | is correct, statement Il is incorrect
4) Statement | is incorrect, statement Il is correct

The pineal gland is located on the _ side of
forebrain.

1) ventral

2) dorsal

3) lateral

4) anterior

Which of the following endocrine glands is
related to maintenance of normal rhythms of
sleep wake cycle?

1) Thyroid

2) Hypophysis

3) Pineal

4) Thymus

Thyroid gland also secretes a protein hormone
called ___ which regulates the blood calcium
levels.

1) LH

2) FSH

3) TSH

4) thyrocalcitonin

Hypothalamus contains several groups of
neurosecretion cells called _ which produce
hormones.

1) Ganglion
2) Plexus

3) Nuclei

4) Astrocytes
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SHAUBTE FnBEND DIGHLUITENLD BHITEII6LD.
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ACTH grewibadma.
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3)

4)

app-l:  opseiLndler g 2 L el
GetenowiTen HenFHeled GFWOLIL B Djeumndeir
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BT BEBE!.
1) | @b 1 @yeni( gnBBISEHD HeupTeaTene
2) | oppid | Byesi(h gaBmisEsd Fflwurereme
3) anmml | sflwnengl, samml 1 Heupreig
4) ampul | seuprengl, amml | sflwnerg)

Ueofluted &yl (west epemenudlest LIbBHSH S0
SDIMLOHSHIGTENSI.

1) euudimis

2) WaIGUB

3) usbsauTl (B

4) upastpid

Weiteupd  wrremdleveor FTULseMed o1& HMHD
o'y spBFufer  SuicbUTeT  Q(LHIGHEMLONE
ugmofliingy) gL umeg?

1) wgymii
2) emamBuITenLIenierd
3) Liesiuied
4) 1610
o HITIH  &JUL el UIS

apTjCremend  FIEEDBSH, BB BAISHSHHE
STeodWID Sieemeud &L BLLBGHHISBSI.

1) LH

2) FSH

3) TSH

4) g BrrameodIl” BL menflest

mamGUTHTeoeNI60  CTEIBENLDSSLILIBHLD
BILDL SFILIL OF60H6IT LIV G (DSHDHENTS O _6IT6T60T,
Sl aBTTGLTEIHMm6NT 2 BLIg ) g1 enmenr.
1) e\ uiest
2) L106meB6M6M0
3) 2 s(Hbsa
4) peror GrrenaL (Baer
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Which one of the following is incorrect?

1) Excess secretion of growth hormone in adults
especially in middle age - acromegally

2) Hypothyroidism - Graves’ disease

3) Low secretion of GH results in stunted growth
resulting in pituitary dwarfism

4) Over - secretion of GH stimulates abnormal
growth of the body leading to gigantism

If mole fraction of urea in water is 0.2 then the
molality of the solution will be

1)139m

2)85m

3)7.7m

4)10.8 m

Which solution will show positive deviation
from Raoult's law?

1) Phenol and aniline

2) Chloroform and acetone

3) Nitric acid and water

4) Ethanol and acetone

A solution containing 34.2 g per dm? of sucrose
(molar mass = 342 g mol?) is isotonic with 15%
(w/iv) solution of a non-volatile and
nonelectrolyte solute at same temperature. The
molar mass of the solute is

1) 750g/mol

2) 1500g/mol

3) 150g/mol

4) 300 g/mol

If vapour pressure of two liquids A and B are 100
torr and 140 torr, respectively then total vapour
pressure of the solution obtained by mixing 4
moles of A and 6 moles of B would be

1) 110 torr

2) 115 torr

3) 124 torr

4) 120 torr

The concentration term which depends on
temperature is

1) Mole fraction

2) Molality

3) (wiw) %

4) Molarity
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2)85m
3)7.7m
4) 10.8 m
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1) LSevrmed oBBID ieviledest
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4) e15HHeme0 BBID D1F GLest
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3) 150g/mol

4) 300 g/mol
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aefled, A Ber 4 Gureosel BmID B @Ber 6
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1) 110 torr

2) 115 torr

3) 124 torr

4) 120 torr
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For the cell reaction,

Ni(s) + Cu?*(aq) — Ni?*(aq) + Cu (s)
if Egy; = 0.6 V at 298 K then standard Gibb's
energy change (ArG°) of the cell reaction is

1) —225.5 kJ mol

2) —115.8 kJ mol ™

3) —75.2 kI mol™*

4) -55.1 kJ mol™

Unit of cell constant is
1) cm?

2) ohm™

3)cm™

4) cm

If conductivity of 0.2 M solution of KCI at 298K
is 0.024 S cm™?, then the molar conductivity in S
cm? mol™ of the solution will be

1) 120

2) 150

3) 85

4) 180

If standard reduction potential of three metals A,
B and C are +0.24 V, +0.80 V and -0.60 V
respectively, then oxidizing power of the metals
will be in the order

1)C>B>A

2)A>B>C

3) B>A>C

4)C>A>B

If molar conductivities (A%,) at infinite dilution
of KBr, HBr and HCOOK are x, y and z S cm?
mol~ respectively, then (A%,) for HCOOH in S
cm? mol* will be

Dx+y-z

2)X-y-2

3)z+y-—x

4)z+x-y

The equilibrium constant of the given cell
reaction at 298 K will be

Mg(s) + Cu**(aq) — Mg?*(aq) + Cu(s)

(Given: Egy; = 2.7 V)

1) 10721

2) 1082.5

3) 10%56

4) 1091.5
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Q&BTHHBLILLL H6VGT llenaTdd,
Ni(s) + Cu?*(aq) — Ni?*(aqg) + Cu (s)
298 K @60 E2,; = 0.6 V e16i1mmed sp6v63T aMlenevruilest
Bleneouwimen Hienler Symmev BB (ArGP)

1) —225.5 kJ mol

2) —115.8 kJ mol

3) —75.2 kI mol™*

4) -55.1 kJ mol™

&6veot LoTMlelUll6lT ©IevE)
1) cm?

2) ohm™

3) cm™

4) cm

298K e KCI @t 0.2 M asevygele
sL53155mer 0.024 S cm arammed, Smyseder S
cm? mol™ @b o_siren Gomeu BL &35 nme
1) 120
2) 150
3) 85
4) 180

A, B upid C spdlur et o Geonsmiser 6t
Hlensowimen GBI Hmer (pevpGuw +0.24 V,
+0.80 V ommib —0.60 V erefled, o Beomamickerler
S SHenmCarmm SHmer auflenguied

1)C>B>A

2)A>B>C

3)B>A>C

4)C>A>B

KBr, HBr wpmib HCOOK sysweuie
6T606MEVUIMM b5 &H6e0eTCUTSHI Gomeoriy
sL_SHHIHHBewern (A%) wenmpGui X, Y oBmid Z S
cm? mol? s @mbsTed, S cm? mol? @eb
HCOOHs (AS,)

Dx+y-z
2)X-y—12
3)z+y—-x
4)z+x-y

298 K @60 Qasmpoésliul L Hevet aileneruder
FLOHlem6v LompsleVl

Mg(s) + Cu**(aq) — Mg**(aq) + Cu(s)
(Qan@asi Lg: E2,, =2.7 V)

1) 10721

2) 1082.5

3) 10%6

4) 1091.5

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

42.

43.

44,

45.

46.

47.

www.Padasalai.Net

Product obtained on the electrolysis of dilute
aqueous solution of Na,SO; at anode and
cathode respectively are

1) H>and Na

2) SOz2and O2

3) H2 and O2

4) Oz and H»

One faraday of electricity was passed through
NaCl(l), CaCl(1l), AICIs(l) kept in three different
vessel using platinum electrode. The ratio of
moles of Na, Ca and Al deposited at respective
electrodes will be

1)1:2:3

2)3:2:1

3)6:3:2

4)6:2:3

0.1 m ag. solution of which of the given
compounds will have highest freezing point?

1) NaCl

2) MgCl;

3) Urea

4) K4[Fe(CN)e]

For ideal solution which of the given relation is
incorrect?

1) AHmix < 0

2) ASmix > 0

3) AGmix <0

4) AVmix =0

The amplitude of a particle executing SHM is

made ‘/2—5 times keeping its time period constant.

If initial total energy is E, then final total energy
will be

HE

)

3E
3) ;
4) N
If the maximum acceleration of a S.H.M. is a and
the maximum velocity is B, then amplitude of
vibration is given by

1) p%a
2) o?B

2

3) _“2
a

4) ?

Kindly Send Me Your Study Materials To Us Email ID:
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Gpidemeuruied wBBID erdHTdleTeuruied (WenpGui
NaxSOs et Bidsd B seggFede
WedtemmBLUGLUIL60 QUL L swimflliy

1) H>and Na

2) SOzand O2

3) H2and O2

4) Oz and H>

el igeotd LeSI(penetenuill LILIeTLBSHS ety
Gleu6iGoumy H6V601H61T60 MeUBBLILILQ(HHSH
NaCl(l), CaClx(l), AICIz(l) anmfuirs @ . .umyGL
LOGITF LD DI LG DbHIHHS

Wesipenendeaied BHoba emeudssiiul L Na, Ca
wimib Al eydweumnier Goreoseien el gib
1)1:2:3

2)3:2:1

3)6:3:2

4)6:2:3

CamhessiIUl L 6hs GFjwomsedsr 0.1 m ag.
HEDJF60 YL 2 ™D Leiteflenuids
QBTETIQ(HEBGHD?

1) NaCl

2) MgCl;

3) Urea

4) Ks[Fe(CN)e]

Fmbhe HmIFIHEG OBTHSHBLILL L GISHTLTLH6NT60
o138 HAUMBTEIHI?

1) AHmix < 0

2) ASmix>0

3) AGmix<0

4) AVmix = 0

SHM 2 Buis@ib @b gibele aiFa DIHeT HTe0
Nei
5 @op
CruwuGama.  SbL Cwrhs  Bpey  E
STEIBTEL, BBIF! GLOTHSH SYBBED
DE
)

2

SIFTEME!  [HEmeOWITRIHTS — MEUHI]

3E
3) g
4)3
@m S.HM 8ear oidsu’ s (phHsbd o BB
oIFBUF Gousld [ 6IWMTEL, GUPHIBLILIGLD
SIFNTey s
1) B%a
2) a?p
ﬁZ

3) ?2
4) &

) B
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The mass 'm' is attached to three ideal springs
according to the figure. If the frictional force is
absent, then period of horizontal oscillations of

the body will be
K

K
m K

T TTEETTTTTETIITTELTIET T T4

1) 2n /ﬁ
m

2) 21 |—
\’31(

3) 2n am
3K

4) 2m |22
2K

Two S.H.M. are given by y; = A sin (gt + ¢)

and y» = B sin (z?nt + CI>)- The phase difference

between these two after 2 s is
1)=n/3

2)2n/3

3) /6

4)m/2

A particle moves on the x—axis according to the
equation x = A + B sinwt. The motion is simple
harmonic about

Hx=0
2)x=B
)x=A
4)x=(A+B)

A seconds pendulum is fixed on a lift which has
downward acceleration 'g/4'". Its time period is
1)4s

2
Z)VES
3)2+3s

4
4)V§S
Two waves are approaching each other, each
having a velocity of 10 m/s and frequency n,
form standing wave. The distance between two
consecutive nodes is
1) 5/n
2) 10/n

3) 20/n
4) 1/n

48.

49.

50.

51.

52.
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ULGHFH60 'M' Hlewm et Fmbhd Fi(hHealeosviL 631
B et BUILIL (BeTT6G. 2 _grule) alleng
Beveomaill_Lmev, o | 6Vledr SHlemLLoL L
S|M6V6|H6IT 6T HT6VLD
K
K
m K

VST ETTTITTTETETTEL T T LT TTT

1) 21t\/g
m
2) 21t\/E
3K
3) 21t\/E
3K
4) 21t\/£
2K
yeni® S.H.M. y1 = A sin Gt + c|>) WOBEID Yo =

B sin (z?nt + d)) LB LIIBMBTEL UPHISLILIGHBSI.

2 eleomsesol UBe Oy OB
@emL_ullevment &L L Coumiim(p

)n/3
2)2n/3
3) /6
4)m /2

Qh HIH6T X = A + B sinot Fetumiges Lig X-
SIFFI6D bB(HLD. BUISHSELD H&ll FflenF BUISHLOTH
Bnuug

1)x=0

2)x=B

IHx=A

4)x=(A+B)

HCHTHH  phEsDd  'gl4
eiTe_WwiTd gufed Q(h alleonmig
CUITHSHSUILL BH6ITENHI. DIHEI ST6VLD
1)4s

2
2)755
3)2+3s

4
4)755

O\BTewrL
2a1F 60

BOreniB DIMEVH6T  ETMBOWTEIN  OBH(HHIS
aIpBemet, @ealteuteaimid 10 m/s Geusid WBBID
915 TCleue6wT n, BBGLD DIV
® (HhauThGPHemer. @Ay  CFHTLFEFSwmen
(LPEMTHETHF BemL_UTNeVTen HITTID
1) 5/n
2) 10/n
3) 20/n
4) 1/n
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53. The number of beats produced per second by two

54.

55.

56.

57,

vibrations:

X1 = Xo Sin(646mt) and X2 = Xo Sin(652xt)
1)2

2)3

3)4

4) 6

From a wave equation y = 0.5sin ;—Z (64t—x), the

frequency of the wave is
1) 5Hz

2) 10 Hz

3) 20 Hz

4) 25 Hz

A thick uniform rope of length L is hanging from
a rigid support. A transverse wave of wavelength
Ao is set up at the middle of rope as shown in
figure. The wavelength of the wave as it reaches
to the topmost point is

LLLL1, ///\//

) |-

A 5.5 m long string has mass of 0.035 kg. If the
tension in the string is 77 N, the speed of
transverse wave on the string is

1) 110 m/s

2) 165 m/s

3) 77 mls

4) 102 m/s

Which of the following expression represents a
simple harmonic progressive wave?

1) y = Asinmt

2) y = Asinot coskx

3) y = Asin(ot — kx)

4) y = Acoskx
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55.

56.

57.
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QWG oFTeysemed @B elamTghE
® _(HeUTSHBUILL L HIQLIL|EH61TN 60T 6T6uT6mdemndb:
X1 = Xo sin(646mt) and x2 = Xo sin(652mt)
1)2

2)3

3)4

4) 6

Slmev FloaUM 19elHia& Y = 0.5Sin :—7; (64t—x),
SlemevUileir 9155 Ol6w 6T '

1)5Hz

2) 10 Hz

3) 20 Hz

4) 25 Hz

L Senpetten @b sipdhs Fymen suilm @k SlLLore
pFIaled  QBhH CHMHGSBH. UL S
ST LU (oo sulBpllesr  pEellsd Ao
SIEN6VH6TT 60T CIETE)) SIEN60
SIS SBLILIL (HEITENG]. SDIMEOWITEIT G

® FaHlenevenl SienL LD CUITEH SIen6evH6ETLD
YIS IS ////

1)2 o
2) V2 o
Ao
3) 7%
4) Ao

55 m menqpeten ayib 0.035 kg Gasmewig.
FrHHe1 Bupaleng 77 N o15 B mHbHIHTe0, FJ&HH6H
GBIHE Dleweouler Ceusld
1) 110 m/s
2) 165 m/s
3) 77 m/s
4) 102 m/s

Ueleupd  ebd  Geuefliun® @  ereflw
pdHFmFairar g Dlemevanuids GHlbHBHI?
1) y = Asinwt
2) y = Asinot coskx
3) y = Asin(ot — kx)
4) y = Acoskx
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When a train is approaching a stationary
observer, the apparent frequency of the whistle
observed by him as 100 Hz, while when it has
passed away from the observer with same speed,
it becomes 50 Hz. Calculate the frequency of the
whistle when the observer moves with the train.
(Velocity of sound = 330 m/s)

1) 33.3Hz
2) 50 Hz
3) 66.6 Hz
4) 75 Hz

A particle executes linear simple harmonic
motion with an amplitude of 5 cm. When the
particle is at 3 cm from the mean position, the
magnitude of its velocity is equal to that of its
acceleration, then its time period is
)n/2
2)3n /2
3)5n/2
4)n/3

The displacement of a particle in S.H.M. is in
opposite phase with

1) Velocity

2) Acceleration

3) Frequency

4) Kinetic energy

11
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@ Juiled e@UH [HlemeOWITET  LITT6DEUWITETEN])
OBEBREGL Burgl, SeuT Seaualsb@GHld aldeder
GeueftiuenLwitenr oFHTGeuemr 100 Hz sy,
918 GCrysalev umFeweuwmenfiLlmbaH  DICH
GoussiHFev &Lhg GFeveud CGursl, @ig 50 Hz
SLFBH.  uTFeneuwmeny Jullev 61  HEHOGUITS)
alflellelt  DIFTOeuaTTENEIS  BHemwTSHS (BRIHE.
(@edluflest Goustd = 330 m/s)

1) 33.3 Hz

2) 50 Hz

3) 66.6 Hz

4) 75 Hz

Q@ FIHe1 5 M aiFsHiL e Crflwed Hell  Filews
BUEHHMSH CFWOLBHBHIBMSH. HIH6T  FTTSF]]
Hlemsouied BmbaH 3 CM BmeHGD CUTHI, SigHei
CoussHFlar Slemey DB (PHBHBD  FLOWOTH
B(HBGLD, 6163160 SIHEI HT6VLD

)n/2

2)3n/2

3)5n/2

4)yn/3

S.HM 860 e sisefler GLOLWTEFS s1hHanil et
P BLL GHF60 2 6lTeng)

1) Gausid

2) (1pB&eID

3) 2iBl7Ceuemt

4) BwsHs BB
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NEET MACRO TEST 5 (19.12.2024) 20x4=80 MARKS
Botany: Respiration in Plants, Plant Growth & Development

Zoology: Neural control & coordination, Chemical coordination & integration

Chemistry: Solutions, Electrochemistry

Physics: Oscillation, Waves

Solution
01. Answer: (1) 32. Answer: (4)
02. Answer: (3) Hint: In solutions showing positive deviations from
03. Answer: (2) Raoult's law, the intermolecular attractive forces
04. Answer: (4) Egmggz :\—é\ and B-B are stronger than those
82 ﬁzzag:: g; Sol.: In pure elthanol, molegules are hydroge:n
. : bonded, on adding acetone, its molecules get in
07. Answer: (2) between the host molecules and break some of
08. Answer: (4) the hydrogen bonds between them. Due to
09. Answer: (1) weaking of interaction, the solution, shows positive
10. Answer: (4) deviation.
11. Answer: (3)
12. Answer: (3)
13. Answer: (2) 33. Answer: (2)
. Hint: Two solutions having same osmotic
14. Answer: (1) pressures at a given temperature are called
15. Answer: (3) isotonic solutions.
16. Answer: (2) Sol.: For solutions containing non-volatile and
17. Answer: (3) non-electrolyte solutes to be isotonic,
18. Answer: 54; Molarity of solution A = Molarity of solution B
19. Answer: (4
20. Answer: (1) 342 _15/Ms 4000
21. Answer: (1) 342 100
22. Answer: (2) 1 150
or —=—
23. Answer: (3) 10 Mg
24. Answer: (3)
25. Answer: (2) or Ms = 1500 g/mol
26. Answer: (2)
27. Answer: (3) 34. Answer: (3)
28. Answer: (4) Hint: Pow = XAPS + xaP2
29. Answer: (3) total ATATTBTE
30. Answer: (2 ) 4 2
@) Sol.: Mole fraction of A (Xp)=——-=—
4+6 5
31. Answer: (1)
. 6 3
Hint: Molality = mole of ureg %1000 Mole fraction of B(xg) = =—
mass of waterin g 4+6 5
Sol.: Molality = ' x1000 =13.9m P, —2 100 3 140
" Y~ 0.8x18 ' total = g X 1OV F 5
=40+84
=124 torr

1

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

35. Answer: (4)
Hint: Concentration term which contains volume
component is temperature dependent.

Sol.: Molarity is (%Iej which contains volume

part hence it depends on temperature.

36. Answer: (2)

Hint: AG® = —nFE®

Sol.:
~ —2x96500x0.6 _
- 1000 -

AG°® —115.8 kd/mol

37. Answer: (3)

Hint: % is called cell constant.

| (cm) . _
Sol.: (—2) is cm™
A(cm®)
38. Answer: (1)
. 1000 x x
Hint: A, ==
Sol.: A, = W =120 S cm?mol ™’

39. Answer: (3)

Hint: Higher is the reduction potential greater is
the oxidizing power.

Sol.: Among the given metals, metal cation B will
be most easily reduced as its reduction potential is
highest. Correct order of oxidizing power will be B
>A>C.

40. Answer: (3)

Hint: A0 =A? +A% D
(HcooH)  MHcook)  MHBr)  MkKBr)

m
Sol.: A;(HCOOH) =(z+y-x)
41. Answer: (4)
Hint: EZy) = @Ioch

ange" _ 2x2.7
0.059 0.059

Sol.: logK, = =915

K. = 10915

www.TrbTnpsc.com

42. Answer: (4)
Hint: Electrolysis of aqg. solution of NazS04 will
result in electrolysis of water.,

Sol.:
Reaction at anode,
2H20(1) - O2(g) + 4H*(aq) + 4e-
Reaction at cathode,
2H20(l) + 2e~ — Hz(g) + 20H-

43. Answer: (3)
Hint: 1 faraday will deposit 1 equivalent of metal
at the cathode.

Sol.: Mole of Na deposited = 1
Mole of Ca deposited = 1/2
Mole of Al deposited = 1/3
Ratio of moles of Na, Ca, Al
=1:1/2:1/3

=6:3:2

44. Answer: (3)
Hint: Higher is the number of particles of solute
more will be depression in freezing point.

Sol.: Number of particles of urea will be least in
the aqueous solution hence depression in freezing
point will be lowest. The freezing point of the
solution will be highest.

45. Answer: (1)
Hint: For ideal solution, A-B interactions are same
as A-A interactions and B-B interactions.

Sol.: For ideal solution, AHmix = 0.

46. Answer: (3)
Hint: Total energy = %;F(A2

Sol.: E o« A?, if time period is constant

E__A
T = \2
) (—m]
2
g - 3E
4

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com



https://www.padasalai.net/
https://www.youtube.com/@Padasalai-net

www.Padasalai.Net

47. Answer: (3)
Hint: vmax = Ao

dmax = Aw?
Sol.; Tmax _ Aw®

- Vmax Ao
a
— =
B
A _ vmax

®

_ B

)

B

BZ

T o

48. Answer: (2)
Hint: In parallel combination Ker = K1 + Kz +

Sol.: T =2n |-

eff
K=K+ K+ K
Keii = 3K

T=2r [ﬂ
3K

49. Answer: (1)
Hint: Ap = ¢p2— 1

Sol.: ¢, = {gth

att=2s

$1 = (n+¢)

{5

att=2s

(e
_4n___m

bot =gy

www.TrbTnpsc.com

50. Answer: (3)
Hint & Sol.: x = A + Bsinwt

X — A = Bsinof
x' = Bsinot
x—A=0

about x = +A

51. Answer: (4)

Hint: T =2 |-
Geff
L .
Sol T1=211: — (|)
T, =2r "g
g_i
4
2 |t
T, =2nx—  [— (i
2 7 \g (i)
V3
T, 2
T, = 2h (T = 2 s for seconds pendulum)
e
I s
J3

52. Answer: (1)

Hint: Distance between two consecutive nodes

&
Sol.: A:(;} - x;[%}

Distance between two consecutive nodes =%

53. Answer: (2)

Hint: f = ‘f1 —f2|

Sol.: 01 = 2nfi = 6467 = 2xfy
fi =323 Hz

w2 = 2nf2 = 65271 = 21f2
f2=326 Hz
f=f—fi=326—-323
=3Hz

3
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54. Answer: (3)

Hint & Sol.: y = 0.55in[ﬁx 64t —2—“"]
32 32

o=2" 64
3.2
onf = 2% 64
3.2
f= 20 Hz

55. Answer: (2)
Hint: Frequency of the wave remains same

Sol.: Velocity of wave v = \/gx

v 77
~ 10.035

55

=110 m/s

57. Answer: (3)
Hint & Sol.: y = Asin(wt — kx) represents simple
harmonic progressive wave.

www.TrbTnpsc.com

58. Answer: (3)
. (vi Vo]
Hint: f =1,

ViVS

v
Sol.: f, =1
=,

s

:@_ V+vg
50 (v-v

s

100 =1, [g)

200

fo =66.6 Hz

59. Answer: (2)
Hint: v = oVAZ — x? and a = o2

Sol.: According to given condition
02X = oy A% — X2

o x 3 =+/5% —32

60. Answer: (2)
Hint & Sol.: For S.H.M.

ac—X

4
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